Odds and evens

Write the answer in the box.

3+3= 6 4+6= 10

Add the even numbers to the even numbers.

4+ 8 = 12+ 6 = 10+ 6 = 8+14 =
20+14 = 14+12 = 16 +10 = 30+20 =
14 +16 = 18+ 6 = 22+ 8 = 20 +40 =
What do you notice about each answer?

Add the odd numbers to the odd numbers.

7+ 9 = S+ 7 = 11+ 5 = 9+ 5 =
1T+ 7= 9+ 3 = 15+ 5 = 13+ 7 =
11+ 3 = 17+ 9 = 15+ 9 = 13+15 =
What do you notice about each answer?

Add the odd numbers to the even numbers.

3+ 8 = 9+12 = 5+18 = 7+14 =
11+ 4 = 13+10 = 15+ 6 = 21+ 4 =
7+20 = 13+30 = 11+12 = 17+ 6 =
What do you notice about each answer?

Add the even numbers to the odd numbers.

6+ 7= 8+ 5= 10+ 9 = 2+17 =
10+29 = 14+ 3 = 8+13 = 12+ 5 =
14+ 7 = 8+51 = 16+ 9 = 30+17 =

What do you notice about each answer?
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Odds and evens

Write the answer in the box.

3+3 = 4 +6 = 7 +3= 2+6=
Add the even numbers to the even numbers.

4+ 8 = 12+ 6 = 10+ 6 = 8+14 =
20+14 = 14412 = 16 +10 = 30+20 =
14 +16 = 18+ 6 = 22+ 8 = 20+40 =

What do you notice about each answer?




